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A: November 30

この問題では、4 つの値 M1, D1,M2, D2 を入力します。そこで、一部のみなさんは 「M1, D1 だけで良い
のでは？」と思うでしょう。しかし、実は M2, D2 を利用した解法など、一つの簡単な問題にもいろいろな解
法のバリエーションがあります。
以下、この問題の 3 通りの解法を書いていきます。

★ 解法 1 - M1, D1 だけを使って “普通に” 判定
2019 年にはうるう年がないので、「月末日」 であるかは以下のように判定できます。

• M1 = 1, 3, 5, 7, 8, 10, 12 のとき：D1 = 31 だと 「月末日」、それ以外だと 「月末日でない」
• M1 = 4, 6, 9, 11 のとき：D1 = 30 だと 「月末日」、それ以外だと 「月末日でない」
• M1 = 2 のとき：D1 = 28 だと 「月末日」、それ以外だと 「月末日でない」

あとは、条件分岐 (多くのプログラミング言語では if-else 文) を使うことで実装ができます。普通に実装す
ると 2 重に if-else 文を書くことになりますが、出力の部分に 「3 項演算子」 (知らない人は調べてみましょ
う) を使うことで実装が簡略化できます。
＜実装例 (Python 3)＞ https://atcoder.jp/contests/sumitrust2019/submissions/8712722

★ 解法 2 ‒ 「 2 つの月が違えば月末日」
例えば、11 月 30 日の次は 12 月 1 日です。このように、「月末日」 の次の日は月が替わっています！その
ように、M1 ̸= M2 であれば 「月末日」、それ以外だと 「月末日でない」 と判定できます。
＜実装例 (Python 3)＞ https://atcoder.jp/contests/sumitrust2019/submissions/8712762

★ 解法 3 - 「月末日の次の日は “X 月 1 日”」
11 月 30 日の次が 12 月 “1 日” であるように、「月末日」 の次の日は 「月のスタート」、つまり X 月 1

日のようになっています。よって、D2 = 1 であれば 「月末日」、それ以外だと 「月末日でない」 と判定でき
ます。
＜実装例 (Python 3)＞ https://atcoder.jp/contests/sumitrust2019/submissions/8712801

さて、あなたが一番気に入った解法はどれでしょうか？
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B: Tax Rate

現実社会でも、税込み価格だけが分かっている時に、税抜き価格も知りたいと思ったことがある、という人
も多いと思います。
この問題では主に二つの方針があります。一つは 「全探索で答えを見つける」、もう一つは 「計算で答えを
決め打ちする」 方法です。それぞれについて説明していきたいと思います。

★ 解法 1 - 「全探索で答えを見つける」
アップルパイの税抜き価格を X として、「X × 1.08 を整数に切り捨てた値」 が N であるようなものを見
つければ良いです。税抜き価格が N 以下なのは明らかなので：

• 税抜き価格は 1 でしょうか？ (つまり、1× 1.08 を整数に切り捨てた値は N か？)

• 税抜き価格は 2 でしょうか？ (つまり、2× 1.08 を整数に切り捨てた値は N か？)

• 税抜き価格は 3 でしょうか？ (つまり、3× 1.08 を整数に切り捨てた値は N か？)

：　：　：

• 税抜き価格は N でしょうか？ (つまり、N × 1.08 を整数に切り捨てた値は N か？)

この中に “合っているもの” があればこれが税抜き価格ですので、これを出力しましょう。もしなければ、
税抜き価格としてありうるものはないので、”:(” と出力しましょう。
X = 1, 2, 3,…, N すべてに対して 「税抜き価格が X か」 を判定する必要があります。これは、「繰り返し
処理 (多くのプログラミング言語では for 文) を書くことで実装できます。

＜実装例 (Python 3)＞ https://atcoder.jp/contests/sumitrust2019/submissions/8716074

★ 解法 2 - 「計算で答えを決め打ちする」
実は、全探索をしなくても、計算で答えを決め打ちすることができます。
アップルパイの税抜き価格を X とすると、税込み価格は X × 1.08 を整数で切り捨てた値です。これが N

円になるためには、N ≤ X × 1.08 < N + 1 が条件となります。
ここで、条件の値を全部 1.08 で割ってみると、 N

1.08 ≤ X < N+1
1.08 となります。ですので、

N
1.08 以上

N+1
1.08

未満に整数があるならこれが税抜き価格となり、なければ税抜き価格としてありうるものがない、ということ
が分かります。
例えば、N = 1001 の場合、926.851851… ≤ X < 927.777777… となるので、税抜き価格が 927 円である
ことが分かります。税抜き価格を「 N

1.08 を整数に切り上げた値」と決め打ちして、税込み価格が N に一致す
るかどうかを判定する、というような実装もできます。

＜実装例 (Python 3)＞ https://atcoder.jp/contests/sumitrust2019/submissions/8716275

2



C: 100 to 105

この問題では、「100 円から 105 円」 の性質を使って一発で判定する解法と、動的計画法 (DP) を使う全く
違った解法があります。コンテストの時はどちらかで解いた人が多いと思いますが、違った解法を見てみるこ
とでも知見が広がります。ですので、ぜひ読んでみましょう。

★ 解法 1a - 「品物の個数を全探索」
品物の個数 C が決まっていると、合計価格としてありうるものは 「100× C 円以上 105× C 円以下」 す
べてになります。ですので、判定が簡単です。
C = 1, 2, 3,…, X すべてに対して判定して、この中に「ちょうど X 円の買い物をすることは可能」と判定
されたものがひとつでもあれば X 円の買い物ができ (その場合の答えは 「1」)、ひとつもなければどうやっ
ても X 円の買い物ができません (その場合の答えは 「0」)。

★ 解法 1b - 「品物の個数を決め打ち」
実は、C =( X

100 を整数で切り捨てた値) の値でちょうど X 円の買い物ができるならば答えは 「1」 で、そ
うでなければ答えは 「0」 です。なので、解法 1a の C を ( X

100 を整数で切り捨てた値) と決め打ちして判定
するだけでこの問題は解けるのです。

★ 解法 2 - 「2000 円以上ならどんな場合でも X 円の買い物ができる」
実は、2000 円以上ならどんな場合でも X 円の買い物ができます！ですので、X ≥ 2000 の場合答えは必ず

「1」 となります。
次に、X ≤ 1999 の場合です。この場合、おにぎり・サンドイッチ・クッキー・ケーキ・飴・パソコンはそ
れぞれ 0 個以上 19 個以下買うことになります。ですので、20× 20× 20× 20× 20× 20 = 6.4× 107 通りの
買い方を全探索して、その中に合計価格が X 円となるものがあるか判定すれば良いです。コンピューターが
1 秒に計算できる回数は億単位ですので、適切な実装をすれば間に合います。

★ 解法 3 - 「動的計画法 (DP) でこの問題を解く」
dpi を 「i 円の買い物ができるなら “Yes”、できないなら “No”」 とします。

• まず、dp0 は “Yes” です。その後は、dp1, dp2, dp3, ..., dpN の順に求められます。
• dpi−100, dpi−101, dpi−102, dpi−103, dpi−104, dpi−105 のどれかが“Yes”なら、これにひとつの品物を付
け足した i 円の買い物ができるので dpi が “Yes” になります。

• 6 つ全部 “No” な場合、i 円の買い物はどうやってもできないので dpi は “No” となります。

このように、今まで求めた部分問題の答えを再利用するような方法を、「動的計画法 (DP)」といいます。よ
く使われるアルゴリズムですので、知らない人は知っておきましょう。
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D: Lucky PIN

この問題では、全探索による解法と、動的計画法による解法があります。

★ 解法 1 - 暗証番号を全探索
暗証番号 V を 000 から 999 まで決め打ちすることを考えます。すると、以下の問題を 1000 回解けばよい
ことになります。

• ラッキーナンバー S から、N − 3 桁を消して暗証番号 V を作ることができるか。

これは、以下のように貪欲法を用いて解くことができます。この解説では、S の i 文字目を Si、V の j 文
字目を Vj と表します。

1. Si = V1 となるような i の中で、最も小さい i を p1 とする。そのとき、p1 文字目を残し、ステップ 2

へ進む。そのような i が無ければ暗証番号 V を作ることはできない。
2. Si = V2 となるような i であり、p1+ 1 以上であるものの中で、最も小さい i を p2 とする。そのとき、

p2 文字目を残す。そのような i が無ければ暗証番号 V を作ることはできない。
3. Si = V3 となるような i であり、p2+ 1 以上であるものの中で、最も小さい i を p3 とする。そのとき、

p3 文字目を残す。そのような i が無ければ暗証番号 V を作ることはできない。

例えば、S = 869120, V = 812 の場合、以下のようになり、暗証番号を作ることができます。

計算回数は 1000×N 回程度です。N ≤ 30000 より、余裕を持って間に合います。

★ サンプルコード

• C++: https://atcoder.jp/contests/sumitrust2019/submissions/8695967
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もう一つの解法を紹介します。

★ 解法 2 - 動的計画法による解法
以下の 3 つの値を記録して、文字列の左から動的計画法を行うことを考えます。

• pos: 最後にどの桁を見たか。
• len: 現時点で何文字を残すと決めたか。
• current: 現時点で残すと決まった部分の文字列。

例えば、S = 869120、pos = 3 の場合において、その時点で 1, 3 文字目のみを残すと決めた場合、
len = 2, current = ”89” となります。そのような状態を、

• dp[pos][len][current] =(この状態にできるかどうかを 0 か 1 で表す)

というように多次元配列を用いて記録すると良いです。

また、動的計画法の遷移は「次の文字を残すか」「次の文字を消すか」の 2 通りしかないです。例えば
S = 869120 において、dp[3][2][89] からの遷移として考えられるのは、dp[4][2][89] か dp[4][3][891] のどちら
かです。
計算回数は、30000× 4× 1000× 2 回程度必要ですが、計算に時間がかかる操作が比較的少ないため間に合
います。メモリも 30000× 4× 1000 個程度の配列を必要としますが、bool型配列で良いので、余裕を持って
間に合います。

★ サンプルコード

• C++: https://atcoder.jp/contests/sumitrust2019/submissions/8717655

おまけ: 100×N 回程度の計算でできる解法を考えてみましょう。また、3×N 回程度の計算でできる解法
も考えてみましょう。
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E: Colorful Hats 2

この問題では、単純な掛け算のみで解く簡単な方法があるので、これを紹介します。

★ 本質的な考察
ここでは、人 1, 2, 3, ..., i のうち赤色の帽子を被っている人数を ai、青色の帽子を被っている人数を bi、緑
色の帽子を被っている人数を ci とします。また、xi を [ai, bi, ci] の中で 1 番目に大きい値、yi を [ai, bi, ci]

の中で 2 番目に大きい値、zi を [ai, bi, ci] の中で 3 番目に大きい値とします。
そのとき、「人 i の前にいる、人 i と同じ色の帽子を被っている人数 Ai」が分かれば、xi, yi, zi の値は特定
できるのです。

★ 具体例
例えば、N = 6 で、Ai = 0, 1, 0, 0, 1, 2 の場合、xi, yi, zi の値は以下の表のようになります。

i i = 0 i = 1 i = 2 i = 3 i = 4 i = 5 i = 6

xi 0 1 2 2 2 2 3

yi 0 0 0 1 1 2 2

zi 0 0 0 0 1 1 1

例えば、i = 4 のときを考えましょう。人 3 までの時点で、2 (= xi) 人が被っている色の帽子、1 (= yi) 人
が被っている色の帽子、0 (= zi) 人が被っている色の帽子があります。A4 = 0 より、人 4 はその時点で 0 人
が被っている色の帽子を被ることが確定します。そして、人 4 までの時点で多い順に [2, 1, 1] 人が被っている
帽子の色があると分かります。

★ 掛け算で答えを求める
最後に、「人 1, 2, ..., i− 1 の帽子の色が決まったとき、人 i の帽子の被り方は何通りあるか」を考えましょ
う。（これを Ti とします。）xi, yi, zi の値が分かっているので、各人ごとに独立に考えることができ、答えは
T1 × T2 × T3 × ...× TN となります。
また、Ti の値は [xi−1, yi−1, zi−1] の中でいくつ Ai と等しいものがあるか、になります。計算量は O(N)

です。

★ 上の例について答えを求めてみよう！
上の例において、5 人目までの時点での帽子の色を、多くの人が被っている順に α,β,γ とします。（そ
れぞれ x5, y5, z5 人が被っています）そのとき人 6 は、x5 = A6, y5 = A6 を同時に満たすため、α 色と
β 色を被る可能性があり、T6 = 2 となります。同様に他の Ti についても求めていくと、上の例の答えは
3× 1× 2× 1× 2× 2 = 24 と分かります。

★ サンプルコード

• C++: https://atcoder.jp/contests/sumitrust2019/submissions/8683667

• Python3: https://atcoder.jp/contests/sumitrust2019/submissions/8697277
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F: Interval Running

この問題は一見複雑な場合分けが必要に見えるかもしれません。ただ、これはあることに気づくことで、一
気に単純になります。この問題を解くのに二種類の方針があるので、それぞれ説明していきます。

★ 解法 1 ‒ 「相対速度を考える」
2 人の間の距離の差を考えてみましょう。時刻 t での高橋君のスタートからの距離を f(t)、青木君のスター
トからの距離を g(t) として、f(t)− g(t) のグラフを考えてみましょう。これは、下図のようになります。

図. 高橋君と青木君の距離の差のグラフ

よく見てみましょう。これは、実に単純な形になっています！

• 最初の T1 分間で、(A1 −B1)× T1 メートル分増える
• 次の T2 分間で、(A2 −B2)× T2 メートル分増える
• これが交互に無限回繰り返される

さて、高橋君と青木君が出会うタイミングは、2 人の距離の差が 0 になったとき、つまり x軸との交点にな
ります。そこで、P = (A1 −B1)× T1、Q = (A2 −B2)× T2 として、次のような数直線上の点 (最初は「0の
位置」にいる) の動きを考えてみましょう。

• 点が距離 P だけ移動する (x の位置から x+ P の位置に動かされる)

• 点が距離 Q だけ移動する (x の位置から x+Q の位置に動かされる)

• これらを 1 サイクルとし、それが交互に無限回繰り返される

そのときに「0 の位置」を何回通るかが、この問題の答えとなります。　ここで、P < 0 の場合 (最初負方
向に移動する場合) の答えを、3 通りに場合分けして考えてみましょう。(P > 0 の場合は、P,Q を −1 倍す
ると同じ答えが得られます。)

P +Q < 0 の場合
答えは 0 になります。なぜなら、1 サイクルが終わったとき正方向に行くので、二度と 0 の位置に来ること
がないからです。

P +Q = 0 の場合
答えは無限になります。なぜなら、1 サイクルが終わったら 0 の位置に戻ってきて、これが無限回繰り返さ
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れるからです。

P +Q > 0 の場合
k サイクル目が終わると、点は k × (P +Q) の位置にあります。その次のサイクルで 0 の位置を何回通る
ことになるでしょうか？

• k × (P +Q) + P < 0 の場合：2 回 (0 の位置より奥で跳ね返るので)

• k × (P +Q) + P = 0 の場合：1 回 (0 の位置で跳ね返るので)

• k × (P +Q) + P > 0 の場合：0 回 (0 の位置でより手前で跳ね返るので)

1 サイクル目では 1 回だけ 0 の位置を通ります。それを考えると、 −P
P+Q の商を S、あまりを T として、0

の位置を通る回数は次のようになります。

• T ̸= 0 の場合、S × 2 + 1 回 (1 + 2 + 2 + 2 +…+ 2 + 0 + 0+ … 回)

• T = 0 の場合、S × 2 回 (1 + 2 + 2 + 2 +…+ 2 + 1 + 0 + 0+ … 回)

これで、単純な場合分けと簡単な計算で、この問題の答えを求めることができました！

＜実装例 (Python 3)＞ https://atcoder.jp/contests/sumitrust2019/submissions/8717451

★ 解法 2 ‒ 「性質が変わるところを二分探索」
高橋君・青木君の T1 + T2 秒の動作を 1 サイクルとします。
このとき、1 サイクルで高橋君・青木君が出会う回数は、最初から順に 1, 2, 2, 2, 2, 2,…, 2, 1, 0, 0, 0,… のよ
うになっている場合もあれば、1, 1, 1, 1, 1, 1,… のようになっている場合もあります。しかしどんな場合でも、
「数が変わる場所」 は高々 3 ヶ所しかありません。ですのでこの “境界部分” を、二分探索などを用いて上
手く求めると、入力された値の対数時間で答えを求めることができます。

有限回しか高橋君と青木君が出会わない場合でも、時刻 1020 くらいで出会うことがあり、出会う場所の座
標が 1030 程度になることがあります。これは 64 ビット整数型におさまりませんが、Java・C#・Python な
どのプログラミング言語では多倍長整数演算を扱うことで解くことができます。また、C++ でも実行環境に
よっては 「__int128」 という型で 128 ビット整数型を扱うことによって解くことができます。
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A: November 30

In this problem, you are asked to input four values, M1, D1,M2, D2. Some of you may think ”why are

we not only given M1, D1?” However, this simple problem has many variety of solutions, some of which

uses M2, D2 too.

We will show you three ways of solving this problem.

★ Solution 1 - Use only M1, D1 and check in a ”normal” way

Since 2019 is not a leap year, you can check if the given date is the last day of a month by the following

process:

• If M1 = 1, 3, 5, 7, 8, 10, 12: if D1 = 31, it is the last day of the month, and otherwise it is not

• If M1 = 4, 6, 9, 11: if D1 = 30, it is the last day of the month, and otherwise it is not

• If M1 = 2: if D1 = 28, it is the last day of the month, and otherwise it is not

You can implement it by using conditional branches (in most programming languages, if-else state-

ments). If you implement straightforward you will have to write if-else statements twice, but by using

ternary operators (search for it if you don’t know), the implementation can be simplified.

＜ Implementation example (Python 3)＞ https://atcoder.jp/contests/sumitrust2019/submissions/8712722

★ Solution 2 ‒ ”If the two given months are different, it is the last day of a month”

For example, the next day of November 30th is December 1st. Like this, the day after the last day of a

month has different month value! Like that, if M1 ̸= M2 then it is the last day of a month, and otherwise

it is not.

＜ Implementation example (Python 3)＞ https://atcoder.jp/contests/sumitrust2019/submissions/8712762

★ Solution 3 - “The next day of the last day of a month is ”2019-X-1””

The next day of November 30th is December ”1st,” and likewise the next day of the last day of a month

is ”the first day of a month,” and that is like 2019-X-1. Therefore, if D2 = 1, then the day is determined

to be the last day of a month, and otherwise it is not.

＜ Implementation example (Python 3)＞ https://atcoder.jp/contests/sumitrust2019/submissions/8712801

Now what is your favorite solution?
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B: Tax Rate

In real world, when you only know the price with tax included, some of you may wonder the original

price without tax.

There are primarily two ways of solving this problem. One way is ”finding the answer by brute forcing,”

and the other way is ”guessing the most plausible answer with calculation.”

★ Solution 1 - ”Find the answer by brute forcing”

Let X be the price of the apple pie without tax. You have to find N such that X × 1.08, rounded

down, is equal to N . It is obvious that price without tax is no more than N .

• Is the price before tax equal to 1? (That is, is 1× 1.08, rounded down, equal to N?)

• Is the price before tax equal to 2? (That is, is 2× 1.08, rounded down, equal to N?)

• Is the price before tax equal to 3? (That is, is 3× 1.08, rounded down, equal to N?)

：　：　：

• Is the price before tax equal to N? (That is, is N × 1.08, rounded down, equal to N?)

If any of those statement above is true, then that is the price before tax, so output it. If not, there

does not exist such price, so print ”:(”.

You have to check if ”price before tax is X” for all X = 1, 2, 3,…, N . This can be implemented by

writing ”loop operation (in most programming language, for statements).”

＜ Implementation example (Python 3)＞ https://atcoder.jp/contests/sumitrust2019/submissions/8716074

★ Solution 2 - ”Guess the most plausible answer with calculation”

In fact, you can guess the most plausible answer with calculation.

Let X be the price of the apple pie without tax, then the price with tax is X × 1.08, rounded down

into an integer. In order that this is equal to N yen, the condition is that N ≤ X × 1.08 < N + 1.

Here, by dividing each term of the condition by 1.08, you obtain N
1.08 ≤ X < N+1

1.08 . Therefore, if there

exists an integer greater than or equal to N
1.08 and less than N+1

1.08 , then that is the answer; if not, it

appears that there is no possible price without tax.

For example, if N = 1001, it should holds that 926.851851… ≤ X < 927.777777…, so it appears that

the price without tax is 927 yen. You can also implement in a way in which you first guess that the price

before tax is ” N
1.08 , rounded up to an integer,” and then check if the price with tax is equal to N .

＜ Implementation example (Python 3)＞ https://atcoder.jp/contests/sumitrust2019/submissions/8716275
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C: 100 to 105

This problem can be solved either by judging at once using the condition of ”100 yen to 105 yen,”

or by using DP, which are completely different. In the contest many people may solved it in one way,

but solving with another way may deepen your knowledges. So we recommend you reading the following

editorial.

★ Solution 1a - ”Brute force all possible numbers of items”

When the number of items C is fixed, then possible sum of items is all integer such that ”greater than

or equal to 100× C, and less than or equal to 105× C.” Therefore, it is easy to judge.

Check for all C = 1, 2, 3,…, X, and if ”it is possible to buy C items that cost exactly X yen” for any

C, then it is possible to buy some items that cost exactly C yen” (in which case the answer is ”1”), while

otherwise you cannot achieve it (in which case the answer is ”0”).

★ Solution 1b - ”Pinpointing the number of items”

In fact, if it is possible to buy C =( X
100 , rounded down) items that cost exactly X yen, then the answer

is ”1”, and otherwise the answer is 0. So, this problem can be solved just by pinpointing C to C =( X
100 ,

rounded down) in solution 1a.

★ Solution 2 - If X is more than 2000 yen, you can always achieve it

In fact, if X is more than or equal to 2000, then you can always buy some items that cost X yen in

total! Therefore, if X ≥ 2000, then the answer is always ”1”.

Next, consider X ≤ 1999. This case, the numbers of riceballs, sandwiches, cookies, cakes, candies and

computers are in the range of 0 and 19, inclusive. Therefore, it is sufficient to brute force through all

possible 20× 20× 20× 20× 20× 20 = 6.4× 107 combinations of numbers of items, and then check if sum

of any of them is equal to X. Computers can perform hundreds of millions of calculations in a second,

so it will finish in time with proper implementation.

★ Solution 3 - ”Solve this problem in Dynamic Programming(DP)”

Let dpi be “”Yes” if it is possible to buy items that cost i yen, and otherwise ”no”.”

• First dp0 is “Yes”. The others can be determined in the order of dp1, dp2, dp3, ..., dpN .

• If any of dpi−100, dpi−101, dpi−102, dpi−103, dpi−104, dpi−105 is ”Yes”, then you can add one item so

that the sum is i yen, so dpi is yes.

• If all those 6 values are ”No”, then you cannot achieve it, so dpi is ”No”.

Like this, some problems can be break apart recursively into smaller equivalent problem. This technique

is called ”Dynamic Programming (DP)”. This is very commonly used, so check it if you don’t know that.
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D: Lucky PIN

This problem can be solved either by brute forcing or by dynamic programming.

★ Solution 1 - Brute force all possible PIN codes

Let’s fix the pin codes N from 000 to 999. Then it is sufficient to solve the following problem 1000

times.

• Is it possible to obtain PIN code V by erasing N − 3 digits from lucky number S?

This can be solved with the following greedy algorithm. In this problem, we denote the i-th letter of

S as Si, and j-th letter of V as Vj .

1. Among all i such that Si = V1, find the smallest i and let it be p1. Then retain p1-th letter and

proceed to Step 2. If such i does not exist, you cannot obtain PIN code V .

2. Among all i greater than or equal to p1 + 1 such that Si = V2, find the smallest i and let it be p2.

Then retain p2-th letter. If such i does not exist, you cannot obtain PIN code V .

3. Among all i greater than or equal to p2 + 1 such that Si = V3, find the smallest i and let it be p3.

Then retain p3-th letter. If such i does not exist, you cannot obtain PIN code V .

For example, if S = 869120 and V = 812, it will be like as follows, and you can obtain the PIN code.

Total number of calculations are about 1000×N . Since N ≤ 30000, it will easily finish in time.

★ Sample code

• C++: https://atcoder.jp/contests/sumitrust2019/submissions/8695967
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We will introduce another solution.

★ Solution 2 - Solution with Dynamic Programming

Consider performing DP on string from left to right, recording the following values:

• pos: The last digit ever seen.

• len: The number of letters you decided to retain.

• current: The substring of the part you decided to retain.

For example, in the case of S = 869120 and pos = 3, if you have decided that you will retain the 1st

and 3rd letter, then len = 2, current = ”89”. You can then record such state with a multi-dimensional

array such that:

• dp[pos][len][current] =(Whether or not it is possible to reach this state)

Also, there are only two transitions of DP, either ”retain the next letter” or ”remove the next letter”.

For example, when S = 869120, possible transitions from dp[3][2][89] are either dp[4][2][89] or dp[4][3][891].

The number of calculations in total is about 30000× 4× 1000× 2, but time required for each operation

is comparatively small, so it will finish in time. You will also need an array of 30000× 4× 1000 elements,

but you only need bool array, so it easily finish in time.

★ Sample Code

• C++: https://atcoder.jp/contests/sumitrust2019/submissions/8717655

Bonus: Consider solving within about 100×N calculations. Also, consider solving within

about 3×N calculations.

13



E: Colorful Hats 2

This problem has a solution in which only simple multiplication is needed, so we will introduce it.

★ Essential Observation

Let ai be the number of people wearing red hats, bi be the number of people wearing blue hats, and ci

be the number of people wearing green hats, among people 1, 2, 3, ..., i. Also, let xi be the largest number

among [ai, bi, ci], yi be the second largest number among [ai, bi, ci], and zi be the third largest number

among [ai, bi, ci].

Then, if we know ”the number of people who is wearing hats with the same color as person i in front

of person i,” we can identify the values xi, yi, zi.

★ Example

For example, if N = 6 and Ai = 0, 1, 0, 0, 1, 2, then the values of xi, yi, zi will be like as follows:

i i = 0 i = 1 i = 2 i = 3 i = 4 i = 5 i = 6

xi 0 1 2 2 2 2 3

yi 0 0 0 1 1 2 2

zi 0 0 0 0 1 1 1

For instance, let’s consider i = 4. Among person 1 to 3, two (= xi) people are wearing hats with some

color, one (= yi) people is wearing hat with another color, and zero (= zi) people are wearing hat with

the other color. Since A4 = 0, it is uniquely determined that person 4 is wearing a hat with the color of

which zero people are wearing so far. It is also appears that among person 1 to 4, the numbers of people

wearing hats with each color are [2, 1, 1] in decreasing order.

★ Find the answer with multiplications

Finally, let’s consider ”the number of possible colors of person i’s hat, assume that colors of person

1, 2, ..., i−1’s hat are given.” (Let this number be Ti.) Since values xi, yi, zi are already determined, those

values can be considered independently, and the answer will be T1 × T2 × T3 × ...× TN .

Here, value Ti is the number of integers among [xi−1, yi−1, zi−1] that is equal to Ai. The time complexity

is O(N).

★ Let’s calculate the answer for the example above!

In the example above, let α,β,γ be the number of people with each color among people 1 to 5, in

decreasing order. (x5, y5, z5 people are wearing each.) Then, for person 6, it holds that x5 = A6, y5 = A6,

so the person may wear either color α or color β, so T6 = 2. Other Ti’s can be found similarly, so the

answer is 3× 1× 2× 1× 2× 2 = 24.

★ Sample Code

• C++: https://atcoder.jp/contests/sumitrust2019/submissions/8683667

• Python3: https://atcoder.jp/contests/sumitrust2019/submissions/8697277
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F: Interval Running

At a glance, it may be seem that this problem requires complex case splitting. However, it becomes

far easier if you realized a special point. There are two ways of solving this problem. We will explain one

by one.

★ Solution 1 ‒ ”Consider the relative velocities”

Let’s consider the distance between the two runners. Let f(t) be the distance between the starting

point and the point where Takahashi comes at time t, and g(t) be the distance between the starting

point and the point where Aoki comes at time t, and consider the graph of f(t)− g(t). It will be like the

following shape:

Figure. The graph of distance between Takahashi and Aoki

Look carefully. The shape is simple indeed!

• In the first T1 minutes, it increases by (A1 −B1)× T1 meters

• In the next T2 minutes, it decreases by (A2 −B2)× T2 meters

• These are repeated infinitely

Takahashi and Aoki meet each other when the distance between the two runners is 0. These correspond

to the intersection of the graph and x-axis. Let P = (A1−B1)×T1 and Q = (A2−B2)×T2, and consider

a point moving on a number line (which is initially at ”position 0”), which moves like:

• The point moves P meters (it moves from position x to the position x+ P )

• The point moves Q meters (it moves from position x to the position x+Q)

• The movements above are regarded as one cycle, and these are alternately repeated infinite times

Count how many this point passes ”position 0,” which will be the answer for the problem. 　 Let’s

think about the case of P < 0 (the case in which the point first move in the negative direction), which is

split into three cases.

If P +Q < 0

The answer will be 0. Because, after a cycle ends the point moves in the positive direction, and it will

never come to the position 0 again.
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If P +Q = 0

The answer will be infinity. Because, after a cycle ends it returns to the position 0, which is repeated

infinitely.

If P +Q > 0

After the k-the cycle ends, the point is at position k × (P + Q). How many times will it pass the

position 0 during the following cycle?

• If k × (P +Q) + P < 0: twice (because it bounces back at a point further than position 0)

• If k × (P +Q) + P = 0: once (because it bounces back at the position 0)

• If k × (P +Q) + P > 0: never (because it bounces back before it reaches position 0)

During the first cycle, it passes the position 0 only once. All thing considered, the number of times it

passes the position 0 is as follows, where S and T are the quotient and remainder of −P
P+Q :

• If T ̸= 0, S × 2 + 1 times (1 + 2 + 2 + 2 +…+ 2 + 0 + 0+ … times)

• If T = 0, S × 2 times (1 + 2 + 2 + 2 +…+ 2 + 1 + 0 + 0+ … times)

Now we have found the answer for this problem only with simple case splittings and easy calculations!

＜ Implementation example (Python 3)＞ https://atcoder.jp/contests/sumitrust2019/submissions/8717451

★ Solution 2 ‒ ”Binary search for the position where property changes”

We regard the movements of Takahashi and Aoki during T1 + T2 seconds as a cycle.

Here, the numbers of times Takahashi and Aoki meets during each cycle are 1, 2, 2, 2, 2, 2,…
, 2, 1, 0, 0, 0,… for some cases, or 1, 1, 1, 1, 1, 1,… for other cases. However, in any case there are at most

three positions such that ”the number changes.” Therefore, if you aptly search for those position with

binary search, you can find the answer in a logarithmic time of input values.

Even they only meets finite times, it is possible that they meet each other about at time 1020, and

the coordinate of position they meet may be about 1030. This does not fit in 64-bits integer, but in

some programming language, such as Java・C#・Python, you can use Big Integers to solve it. Moreover,

in C++, in some environment you can use ”__int128” to calculate with 128-bit integers to solve this

problem too.
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